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TrigonometryExercise5 for No.9395

3 3 )]
A= arcCos[%J .2=arcSin(1) 3= arcCos[—gj

1
Nol=| .4=arcCos(2) S= arcSin(Ej .6 =arcTan(-1)

(A2
.7:arcTan(«/;) .8 = arcSin —T .9 =arcCos(-1)

-1 ]
= Sin(arcSin(— T 2= Sln[arcCos[ jj 3= Tan(arcSin ]
.4 = Cos| arcSin| .5 =arcCos| Cos| — .6 = arcSin| Cos
2 6
NO2 = > b
. 5w Sn 5
7= arcSln(Sm(?jJ 8= arcCos(Cos( ?D 9= arcTan(Tan Tj
Il ) «/5
.11 = Csc| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos| ——
[ 5 2 2N 1
= Sec(arcCos[gD 2= Cos(arcSin(;D 3= Cot(arcSin(;D

s

2

M

a

t

h

No3 =| 4= Tan[arcSin[—jJ .5 =Csc( arcTan(«/;)) .6 =Cos(arcTan(-5))|, ,| @
? M

U

T

!

'\’|§|I\ﬂmi®w~a E:

o
N——
N—

VY
L
1
]

T

VR
(9%}

= |

Ne—

a

/_\\
“|§|

0= Sec(arcSm

~NQEX®>~=8 &

w

K 7= Tan[arcCos(éjJ 8= Sin(arcTan(gD 9= Sin[arcCos(%D_

[ 1 -5 1 2 ]
A= Sin[arcCos(—) + arcSin(—D 2= Cos(arcCos[—J + arcSin[—D
3 6 3 3
. (5 5
No4 = 3= SIH(Z arcSm[gD 4= 005[2 arcCos[gD

. . 177w . 137
.5 =arcTan(Cos(n) + Sin(-5=w)) .6= Sec(arcCos( Sm(— TD + arcSm(Cos( 3 Dj

T
L

~N QX >~ X

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

E)

No T NCOKX
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TrigonometryExercise5 for No.9419

_ N > _
A= arcSin(;] 2= arcCos(— g} .3 =arcCos(1)

3
Nol=| 4= arcTan(—«\/g) JS= arcTan(gj .6 =arcCos(-3)

3 1
7= arcSin[%] 8= arcCos[Ej .9 =arcSin(-1)

_.1 ) Cos[arccos[_ @]J 2= sm(arccOs[gj 3= Tan[arcco{_ A2 j 1

.4 =Cos( arcTan(—v\/; )) S= arcTan(Tan( j 6= arcSin(Co (Z—th
T

\~1QE®®~Q§:

No2 =

13=n
7= arcSin(Sin(— p jj 8= arcCos(Cos( 3 9= arcTan(Tan(

7
.10 = Csc( arcTan(«/_)) Al = Sec(arcCos( Sm( ?DJ A2 = ArcCos[Sin(ArcCos(

_ B COt[arcCOS(?D 2= cOs(arcsm[%D 3= Sec(arcSm(«/E D_

No3=| .4=Sin(arcTan(7)) S= Cos(arcTan(ﬁ]J 6= Tan[arcSln( D

K 7= Tan[arcCos(@D 8= Csc(arcTan(?j 9= Sin(arcCo ( D |

N—
L

~NCE®F~5 K

~NcE®=~s %

M
i ) 2 (2 5 (-1 | a
.1 =Sin| arcCos| = |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
3 3 6 2
1 2 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcSin| ~ , | @
3 3
M
7n . 17 . 1= . 2n
.5 =arcTan| Cos| — | + Sin| — .6 = Csc| arcCos| Sin| — + arcSin| Cos| — —/— U
L 2 2 6 3 i T
L ! -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U

T
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TrigonometryExercise5 for No.9428

3 2
A= arcCos(%J 2= arcSin[— g} .3 =arcCos(-3)

Nol = -1 . 1 B
.4 = arcCos| ? .5 = arcSin E .6 =arcCos(0)

.7 =arcSin(1) 8= arcTan(«/;) .9 =arcTan(0)

ey ——

(1 (1 ‘ /3 1 [m
.1 = Sin| arcSin| ; .2 = Tan| arcSin| 5 .3 = Sin| arcCos| —T a
T T !
.4 =Cos(arcTan(-1)) .5 = arcSin| Sin| — Z .6 = arcSin| Cos Z h
No2= 17 81 137 | @
.7 = arcSin| Sin| .8 =arcCos| Cos| — .9 =arcTan| Tan M
6 3 6 U
(42 . 3n . (A2 r
.10 = Csc| arcSin 7 .11 = Tan| arcSin| Cos —T .12 = ArcSin| Cos| ArcSin —7 ,
F ]
(2 (1 (A5 a
.1 = Sec| arcSin| g .2 = Cos| arcSin| ; .3 = Tan| arcSin —T ¢
h
3 -1 2
No3=| 4= Tan(arcCos(—D S= Csc[arcCos(—jJ 6= Sin[arcCos[— —[]J , .| @
4 4 3 M
. 3 7 U
.7 =Sin| arcTan| — 2 .8 = Cot(arcTan(-2)) .9 =Cos| arcTan| 5 T
L J M
F ]
I _ 1 (1 2 (-1 ) a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 2 3 3
1 1 h
No4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcSin| — , .| @
3 4
M
7n (Tn (5w . 4n
.S =arcTan| Cos| —— |+ Sin| —/— .6 = Sec| arcCos| Sin| — | | + arcSin| Cos| —/— U
L 2 2 6 3 i T
., .

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

b

NQE NOE
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TrigonometryExercise5 for No.9459

]
_ ﬁ _ ;
A= arcTan(«/;) .2=arcCos(-1) .3 =arcCos T ¢
h
2 2
Nol=| 4= arcCos(— £J S= arcSin(LJ 6=arcSin(0) |} | @
2 2 M
(-] U
.7 =arcCos(2) .8 =arcTan(0) .9 = arcSin ; T
!

I I3 1 M
.1 = Tan| arcTan T .2=Tan arcCos .3 = Sin| arcCos ; a
(1 _ 3n t
.4 = Cos| arcSin E .5 = arcSin| Sin| — .6 = arcSin| Cos| T h
N02 = > s @
S5n T
7= arcSin(Sin[—D 8= arcCos(Cos( D 9= arcTan(Tan( —jj M
6 6 [ U
b 2
.10 = Sec( arcTan(—«\/?)) Al = Sec(arcSin[Cos —Dj 2= ArcSin(Cos[ArcSi TDJ 7/1
]
. 1 «/; ) 4 a
.1 = Sin| arcTan| g .2 = Cos| arcTan —T .3 = Sin| arcCos| ; ¢
/5 B h
No3=| 4= Tan(arcSinL—D S= Csc[arcTan[ D 6= Sec(arcSin[_D s ,| @
9 7 j_ M
-1 1 6
7= Tan(arcCos(—D 8= Cos(arcSi (—D 9= Cot[arcCos(—D u
L 5 4 1//] T
L -/ .
F ]
i _ 1 (4 2 (-2 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| = | + arcSin| — ¢
2 7 5 7
3 2 h
No4 = .3 =Sin| 2 arcCos| = .4 =cos| 2 arcCos| ~ , .| @
5 3
M
) . K ) 2n
.S =arcTan(Cos(5 n) + Sin(5 1)) .6=Cot| arcCos| Sin| — ? + arcSin| Cos| — T U
L g T
., .

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcCos(a.)),

s

NQE NOE
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TrigonometryExercise5 for No.9476

Far]
3 2 a
A= arcCos(%J .2=arcTan(-1) 3= arcSin[— g} ¢
2 !
Nol=| 4=arcSin(2) .5 =arcSin(0) 6= arcSin[—] , | @
I MR
3
7= arcTan(«/;) 8= arcCos[— T] .9 =arcCos(-1) l]{
L | M
sl )] 2 WD ol )]
.1 = Sin| arcSin| - ——— .2 =Sin| arcTan| —— .3 =Tan| arcCos| — ——
2 3 2 a
. ﬁ b . 3n !
.4 = Cos| arcSin| T .5 =arcSin| Sin| —— .6 = arcSin| Cos| T h
N02 = > s @
. (T= 11n
7= arcSln(Sln(—D 8= arcCos[Cos — J 9= arcTan(Tan(—D M
6 4 6 U
. 8n . ﬁ T
.10 = Sec( arcTan(«/;)) .11 = Cot| arcSin| Cos| T .12 = ArcCos| Sin| ArcCos| T ,
"]
-6 ) 3 -5 a
.1 =Cos| arcTan| ; .2=Cos| arcSin| — — 4 3= Tan arcSin| — 7 t
h
6 3 5
No3 =| 4= Sin(arcTan(LD S= Sin[arcCos(—D 6= Sec[arcCos[LD , | @
7 8 8 M
(1 3 5 77
.7 =Csc| arcSin| — .8 = Tan| arcCos| — .9 =Cot| arcTan| =
L 6 4 7)) | T
L/ ]
C ]
i ) 2 (3 1 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ¢
3 8 2 2
4 1 h
No4 = 3= Sin[2 arcSin[—D 4= 005(2 arcCos(—D , .| @
9 2
M
on . on ) 137 . T
.S =arcTan| Cos| — |+ Sin| ——— .6 = Sec| arcCos| Sin| — + arcSin| Cos| —— U
L 2 2 6 3 i T
(S ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.9491

C ]
(A3
.I =arcTan(1) .2 =arcCos(0) .3 = arcSin —T ¢
h
2 3
Nol =| 4= arcCos[— g] S= arcSin(«/E) 6= arcCos[% , .| @
s 2| |
.7 =arcSin(-1) .§=arcTan| ——— .9 =arcSin| ——
L 3 2 )] T
./ a

e

= Tan(arcTan(—

) o)) s

Ne—
|

1

|

M
3 a
3 t
. T T
4= Cos[arcSm(— TD RES arcTan(Tan( D 6= arcCos(Sl (?j h
No2 = g s @
o 5 Tl', 13
.7 =arcSin| Sin| - —— =arcCos| Cos| —/ .9 = arcTan| Tan| — M
6 6 U
(42 3n 3 T
.10 = Sec| arcSin T Al = Cot arcSin| Cos| — .12 = ArcSin| Cos| ArcSin| 7 ,
C ]
- o B
.1 =Csc(arcTan(2)) .2 = Cot| arcCos| — 7 .3 = Cos| arcSin| ? ¢
-7 1 2 k
No3 =| .4 =Sin| arcTan| ? .5 = Sin| arcCos E .6 = Tan| arcSin g , | @
B Is i
.7 = Sec| arcSin T .8 = Tan| arcCos| T .9 =Cos( arcTan(—«\/E)) U
L A T
(. -/ -
C ]
[ 1 -1 1 3 a
A= Sin(arcCos[—J + arcSin[—D 2= Cos[arcCos(—] + arcSin(—D ¢
2 2 2 7
3 5 h
No4 = 3= Sin[Z arcSin[—D 4= 003[2 arcCos[—D , .| @
5 6 M
{17z [ T= ) S5n
.5 = arcTan| Cos(m) + Sin .6 = Sec| arcCos| Sin| — | |+ arcSin| Cos| ——— U
L 2 6 6 i T
./ a

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

>

No T NCKX
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TrigonometryExercise5 for No.9633

Cur]
a
| (2 s
.1 =arcSin(-2) 2=arcSin| —— | .3 =arcCos| —
2 2 h
NOI = 2 1 > s
4= arcSin[— LJ .5 =arcSin(1) 6= arcCos(—j g
2 2
.7 =arcTan(0) 8= arcTan(«/?) .9 =arcCos(0) l]{
!
I 2 3 2 [ M|
= Sin[arcSin(%D 2= Cos[arcTan[— LD 3= Sln(arcCos[gn a
J2 n !
.4 = Tan| arcCos —— .5 =arcCos| Cos| — .6 = arcCos| Sin| —— h
NO2 = T g s @
7= arcSin(Sin[ 6 D 8= arcCos[Cos[ D 9= arcTan[Tan[— —D M
U
. On 1 T
.10 = Sec arcSm .11 = Tan| arcSin| Cos .12 = ArcCos| Sin| ArcCos E )
- M_
-5 2 -3 a
.1 =Cos| arcTan| g .2 =Sec| arcCos 5 3= Tan arcCos| — 3 ¢
h
6 7 2
No3=| 4= Sin[arcTan(— LD S= Csc(arcTan(—D 6= Cot[arcS1n([jJ , .| @
5 5 3 M
(-2 ) 3 5 U
.7 = Tan| arcSin| — .8 = Sin| arcCos| — .9 = Cos| arcSin| =
3 7)) T
L/ ]
C ]
[ ) 1 (5 1 (-1 | a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| = | + arcSin| — ¢
6 8 5 4
2 1 h
No4 = .3 =Sin| 2 arcSin| ~ .4 =cos| 2 arcSin| ~ , | @
5 2
M
A . 1= . 8
.5 =arcTan| Cos(4 1) + Sin 7 .6 = Sec| arcCos| Sin| — p + arcSin| Cos T U
L . T
!

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcSin(a)),

b
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TrigonometryExercise5 for No.9711

[ M

[ 1 (1 a

.1 =arcCos(1) 2= arcCos(EJ 3= arcSln(;j ¢

h

3 2
Nol =| .4= arcSin(—«\/;) 5= arcSin(ij 6= arcCos(— Lj , .| @
2 2

M

3 : U

.7 = arcTan| T .8 =arcSin(0) .9 =arcTan(0) r

L i M
[ 3 2 3 1 [M]

= Tan[arcTan[— g}] 2= Tan[arcSin[%D 3= Cos[arcSin(— gD a
b b !
.4 =Sin(arcTan(-1)) .5 = arcTan| Tan| ; .6 = arcSin| Cos Z h
No2= . 5w T 137 0| @
.7 =arcSin| Sin| ——— .8 =arcCos| Cos| —— .9 =arcTan| Tan| — M
6 3 6 U
-1 [ Tn . . W/E T
.10 = Sec| arcCos| E .11 = Csc| arcCos| Sin ? 12 = ArcSin| Cos| ArcSin| —T )

(VNN

~

)

_ N Sec(arccosen 2= cgc(arcTanSJj 3= Tan[arcsin(_ f D—

No3=| 4= Cos[arcSin(%jJ 5= Sin[arcTan[TD 6= Sin[arcCos(%D
el 2)) el ]) oo

SNCE®s~s g T

[ 1 1 2 2
= Sin[arcCos(—j + arcSinE—D 2= Cos(arcCos(—j + arcSin(—D
3 2 3 3
. (3 5
No4 = 3= Sln(2 arcSm[gjj 4= cos[2 arcCos[;jJ
3n . 7n ) 137 . Sm
.5 =arcTan| Cos T + Sin| —T .6 = Sec| arcCos| Sin| — p + arcSin| Cos| —T

~NSE®s-~s K

No5 = Sin(2 arcCos(a.)),

>

No6 = Cos(2 arcSin(a)),

b}

NQX ~NCX
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TrigonometryExercise5 for No.9784

F ]
. 3 (4 a
.1 =arcSin(3) .2 =arcCos T .3 = arcSin ; ¢
) h
Nol =| .4=arcCos(0) 5= arcSin(Ej G=arcSin(-1) ||, .| @
M
3 3
7= arcTan(—v\/; ) 8= arcCos[— gj 9= arcTan[gj l]{
L J H
[ 3 2 1 [m]
A= Tan[arcTan[— gD 2= Tan[arcSin[%D .3 = Sin( arcTan(—«\/g )) a
[ t
3 b . b
4= Cos(arcTan( JJ S= arcTan(Tan( —D 6= arcSln[Cos[—D h
No2 = 3 4 g s @
. Tn 177
.7 =arcSin| Sin| —/— .8 =arcCos| Cos| —/— .9 =arcTan| Tan| - —— M
3 6 U
1 (1l= . 1 T
.10 = Csc| arcCos ? .11 = Csc| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos, E )
]
7 (5 (43 a
.1 =Cos| arcTan| z .2 =Cos| arcSin| ; .3 = Tan| arcSin| ? ¢
5 2 h
No3=| 4= Sec(arcSi (gjj .5 =Csc(arcTan(6)) 6= Sin[arcCos{gD , | @
M
1 7 2
7= Tan[arcCo (—D 8= Sin[arcTan[LD 9= Cot[arcCos(— LD u
L 6 3 7 ))] T
L -/ .
F ]
[ _ 3 (4 5 (-5 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| ~ | + arcSin| — ¢
8 5 8 6
3 1 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| ~ , .| @
7 2
M
on (5= . Sn . Sn
S= arcTan[Cos(—j + Sln[—D 6= Cot(arcCos[ Sln(— —D + arcSln[Cos(—jD U
L 2 2 6 3 i T
L ! -
M
No5 = Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10143

o7a
V2 3 a
.1 =arcCos(1) .2 = arcCos| T .3 =arcTan| T ¢
-1 h
Nol =| 4= arcTan(—v\/;) .5 =arcSin(0) 6= arcSin[;] , .| @
M
2 3
7= arcCos[— £j .8 =arcCos(7) 9= arcSin[Lj u
L 2 2 /] T
L -/ -
i 3 (-1 | 2 [ M]
.1 = cos| arcCos 7 .2 = Tan| arcSin ; .3 = Sin| arcCos T
s ) (sl ) )
.4 = Cos| arcSin| —— .5 =arcSin| Sin| — .6 = arcCos| Sin| ——
_ 2 3
No2 =

o 137 b
7= arcSln( Sln[— TD 8= arcCos[Cos[— ZD 9= arcTan[Tan[

17

0= Cot(arcTan(«/g)) Al = Tan(arcCos(Sin[— p D

A= Csc[arcCos(?D 2= Cos(arcTan(%D .3 =Sec(arcTan(1))

7 -5
No3=|.4= Sin(arcTan(— —[]j S= Sin[arcCos{— D .6 =Cos arcSln[ 7 D ,
) ) 5
7= Cot[arcSl [ED 8= Tan(arcSm(— D .9 =Tan arcCos[6D

I 5 1 1 -1 )
= Sin(arcCos(—J + arcSin(—D 2= Cos(arcCos(—j + arcSin(—D
9 4 2 2
1 3
No4 = 3= Sin(Z arcCos(ED 4= 005(2 arcSin(gD
on ) 7n [ Tm . S5n
S= arcTan[Cos(Tj + Sln[— TD 6= Csc(arcCos[ Sln(?)] + arcSln[Cos(TDj

No5 = Sin(2 arcCos(a.)),

)

1
2= ArcCos( Sm(ArcCo (;]

a

~~NQSX®=-~8K

\b\]qg®b‘ﬂaglw

[\

ol

-Nc E: @9 =~ ~ E:

>

No6 = Cos(2 arcSin(a)),

b

NQX ~NCX
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TrigonometryExercise5 for No.10359

Cur]
3 2 a
.1 =arcTan(0) 2= arcsm(éj 3= arcCos[%J ¢
3 h
Nol =| 4= arcTan(ﬂ/;) 5= arcCos(a\/;) 6= arcCos[— _] . L@
2 M
. ) 2 U
.7 =arcSin(0) .8 =arcCos(-1) 9= arcSin _T ]
./ |

[ 3 3 [ M ]
.1 = Tan( arcTan(«/; )) 2= Sin[arcTan[— g]] 3= Tan[arcSin(%D a
-1 3n b4 !
.4 =Cos| arcSin| — .5 =arcCos| Cos| — .6 = arcCos| Sin| — h
No2 = 2 4 3 @
B 17w 41 5 > 5
= arcSin(Sin(— jj 8= arcCos(Cos[—D 9= arcTan[Tan[— J M
6 3 6 U
(43 . ‘ 3 T
.10 = Sec| arcSin —7 .11 = Sec| arcCos| Sin| ? .12 = ArcCos| Sin| ArcCos| 7 )
"]
ﬁ 5 2 a
.1 = Csc| arcSin| .2 = Cot| arcCos g .3 = Tan| arcCos g t
[ h
) ) 5
No3=| 4= Tan(arcSln( D .5 =Sin(arcTan(-1)) .6= Sln(arCCOS[_D . | @
? M
ﬁ (1 U
.7 = Sec| arcTan .8 = Cos| arcTan| —— .9 =Cos| arcSin| —
L 2 2)) | T
L/ ]
F ]
[ . 3 (3 1 (-4 a
.1 = Sin| arcCos| ~ |+ arcSin| = .2 =Cos| arcCos| = | + arcSin| — ¢
7 7 3 5
3 3 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| — , .| @
4 8
M
[S5m . I1n ) 10
.5 =arcTan| Cos(5 m) + Sin T .6 = Csc| arcCos| Sin —T + arcSin| Cos 3 Y
L - T
L ! -
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10626

Cur]
a
/3 1 t
1 =arcCos(0) .2 =arcCos —7 .3 =arcCos 5 5
Nol = A2 8 () @
.4 = arcSin| — T .5 =arcTan| T .6 = arcSin T M
.7 =arcTan(-1) .8 =arcCos(-7) .9 = arcSin(-1) l]{
!

w

)
)

N | —

A= cos{arcCos(%D .2 = Sin( arcTan(«/?)) 3= Tan(arcCos(
4= Cos[arcSi (ﬁJ] JS= arcCosLCos{%D 6= arcCos(Sin(

uw|;1

~NCX®>~=8 X

N02 = 2 > s
S5n b T
7= arcSln(Sln( ?jj 8= arcCos(Cos( p j 9= arcTan(Tan[ jJ
3 10 7 2
.10 = Sec| arcCos| — T Al = Cot arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos| T
]
2 (2 (42 a
.1 = Sin| arcCos ; .2 = Tan| arcSin ; .3 = Cos| arcSin T ¢
7 1 5 ;
No3=| 4= Cot(arcTan[—D S= Csc[arcSm[—D 6= Tan[arcCos(—j] , .| @
3 5 6 M
J6 4
7= Sec(arcCos[— T]J 8= Sin(arcTan(gD .9 = Cos( arcTan(ﬂ/g )) (T]
./ J

M
i ) 3 (4 2 (-1 a
.1 =Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| 7 | + arcSin| ¢
4 5 3 2
I 1 h
No4 = 3= Sin[Z arcSin(—D 4= COS[Z arcCos[—D , .| @
2 2
M
(19¢ (1= ) 5n
S= arcTan[Cos(S )+ Sm( 5 D 6= Cot(arcCosESm( D + arcSln(Cos(— ?Dj U
L - T
L/
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.11002

> _
A= arcCos[— g] .2=arcSin(-1) .3= arcTan(—v\/;)

1
Nol =| .4=arcTan(1) S= arcCos(Ej .6 =arcCos(1)

3 2
= arcSin[— g] .§=arcCos(-7) .9= arcSin[gj

I 2 1

A= cos[arcCos[%D 2= Tan(arcCos(;D 3= Cos[arcTan(

.4 =Sin| arcCos| —— .5 =arcTan| Tan| — .6 = arcCos| Sin| —

2 3
No2 =
S5n (U
7= arcSln[Sln( —Jj 8= arcCos(Cos[ 3 jj 9= arcTan(Tan( p

b 3
0= Sec(arcSi (T ] Al = Csc(arcSm(Cos( ZD] 2= ArcSin(Cos(ArcSin -—

2

-~ cE®s-~sx

-l>|?—l el

N—

N~
]
1
1

~~NQSX®=-~-°8K

L
T
L

i B O TN I - N—

= Tan[arcSln( 32)) .2 =Cos( arcTan(«/g)) 3= Cos(arcSin(— gn
No3=| 4= Sin[arcCos[%D .5 =Sec(arcTan(-5))  .6= Tan[arcCOS[%jJ S
(arcTan(%D 8= Cot(arcSin[?D 9= Csc[arcCos(@D

.7 =Sin

M
i ) 1 (3 1 (2 i a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| — | + arcSin| ~ ¢
2 4 2 3
3 3 h
No4 = 3= Sin[Z arcCos[—D 4= cos[Z arcSin(—D , .| @
4 4
M
5m (5= . Tn . 4
.5 =arcTan| Cos| — |+ Sin| —— .6 = Csc| arcCos| Sin| ——— | | + arcSin| Cos| —— U
L 2 2 6 3 i T
(S ~/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.11188

C ]
2 a
1= arcTan(—«/g) 2= arcCos(%J .3 =arcCos(7) t
h
2 3
Nol=| 4=arcCos(-1) .5= arcCos(— Lj 6= arcSin(— LJ , | @
2 2 M
| A3 . U
.7 = arcSin T .8 =arcTan(0) .9 =arcSin(0) T
L i M
_ ﬁ _ Cur]
.1 = Tan( arcTan(«/; )) .2 = Sin( arcTan(—«\/g )) .3 = Tan| arcSin 7 a
1 t
- b (=
4= Cos(arcSlnL—D 5= arcTan(Tan(— —D 6= arcCosESm —D h
No2 = 2 4 3 @
B o (7= 57 17w S
.7 =arcSin| Sin| —— .8 =arcCos| Cos| ———— .9 =arcTan| Tan| M
6 6 U
-1 . b ﬁ T
.10 = Cot| arcCos| E .11 = Csc| arcSin| Cos _E .12 = ArcCos| Sin| ArcCos| — 7 )

1 4 2
A= Sin[arcCos(gD 2= Tan[arcSin(;D 3= Cos[arcSi (— j

)
ot~ -l A2)) -l )] ool )

resefaral?)) rsofwtal2)]o-rfuncal2])|

[ 5 -4 1 5
A= Sin[arcCos(—j + arcSin(—D 2= Cos(arcCosE—] + arcSinE—D
8 5 3 7
3 1
No4 = 3= Sin(Z arcCos(ZD 4= cos(2 arcSin[gD
3n [ Tm (5m ) 10
S= arcTan(Cos(Tj + Sm(— TD 6= Sec[arcCos( Sln[TD + arcSm(Cos( 3 D]

M

No5 =Sin(2 arcSin(a)), ,| U
T

M

No6 = Cos(2 arcCos(a)), ,| U

T
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TrigonometryExercise5 for No.11505

3 7]
4 =arcCos(1) 2= arcSin[— g] 3= arcCos[— g}

. (1
Nol =| 4= arcTan(«/;) .5 =arcSin(-1) 6= arcSln(—j

7= arcTan(— @J 8= arcCos(«/E) 9= arcCos[@]

el D)) endueol D) s )]
a 4= Cos{arcSin(iD JS= arcSin[Sin(%D 6= arcCos[Sin(— D
B ) B P4 R A

(42 (17 . (43
.10 = Cot| arcSin 7 .11 = Sec| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin

([Qj ((}j) 3= co aesi 2]
No3 = 4= Tan(arcCos(jg/D 5= Sin(arcCos(T?’]] 6= Cot(arcSin(?D s s
([_j] = aroco 2] o= cos artan 1]

~NQE® -5y

\S

~NcE®=~s %

Ne—
L

~~NQSX®=-~-°8K

M
[ 1 5 3 -1 a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| — | + arcSin| — ¢
2 9 4 3
1 1 h
No4 = .3 =Sin| 2 arcCos| ~ .4 =cos| 2 arcCos| = , .| @
2 5
M
. I5=n . 11n . T
.5 =arcTan| Cos(3 7) + Sin| — 5 .6 = Sec| arcCos| Sin| — p + arcSin| Cos —g U
- - T
L/
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U

T
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TrigonometryExercise5 for No.12113

i -1 1
A= arcCos[—J 2= arcSin[—J
2 2

.3 =arcSin(0)

Nol =

4= arcSin(— ] .5 =arcCos(-1) .6 =arcSin(2)

X

C ]
a
t
h
2 b 9 A@l
3 2
7= arcTan[gj 8= arcCos[gj 9= arcTan(~\/; ) (7{
L/ ]
[ 2 3 3 1 [M]
A= Sin[arcSin[%D 2= Sin[arcCos[gD 3= Cos[arcTan[g J a
(-1 T . T !
.4 = Tan| arcSin| 3 .5 =arcTan| Tan Z .6 = arcCos| Sin| — ? h
No2 = > s @
. 117 3n Tn
.7 = arcSin| Sin| — .8 =arcCos| Cos| ——— .9 =arcTan| Tan| - —— M
4 6 U
b 1
.10 = Cot(arcTan(1)) Al = Sec[arcSin(Cos[— ZJD 2= ArcSin(Cos[ArcSin[EjD ]/w
F ]
(A2 . 4 J7 a
.1 =Tan| arcSin| —T .2 = Sin| arcCos 5 .3 =Csc| arcCos —T ¢
h
4 2 -1
No3=| 4= Cos[arcSin(—D = Sec(arcTan(— LD 6= Cot[arcSin(—D , | @
7 3 5 M
. -5 1 U
.7 =Sin(arcTan(-5)) .8 = Tan| arcCos g .9 = Cos| arcTan| g T
L ] M
F ]
i ) 3 (-1 1 (5 i a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| = | + arcSin| — ¢
5 2 5 8
4 1 h
No4 = .3 =Sin| 2 arcSin| = .4 =cos| 2 arcCos| = , .| @
5 3
M
Tn (m ) 137 . T
.S =arcTan| Cos| — |+ Sin| .6 = Sec| arcCos| Sin| — + arcSin| Cos| — — U
L 2 2 6 3 | T
L ! .
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 =Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.12541

M
3 2 a
A= arcSin(gj 2= arcSin(— g} .3 =arcCos(0) t
2 !
Nol =| 4= arcTan(—«\/?) = arcCos(«/;) 6= arcCos(T] , .| @
B )|
.7 =arcTan| —/—— .8 =arcSin(-1) .9 =arcCos| ———
L 3 2 )] T
L/ ]
1 , LY ][]
.1 = cos| arcCos| ; .2=Cos(arcTan(-1)) .3 = Sin{ arcTan| — T

3 b4
4= Tan[arcSm(— £D 5= arcCos(CosL—D 6= arcSm(Cos(
2 3
No2 =
N 137 Sw
.7 = arcSin| Sin| — p .8 = arcCos| Cos —? .9 =arcTan| Tan
«/5 . 11n .
.10 = Csc| arcCos T .11 = Tan| arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos

~|a
Ne—

|

W

;/:]\_/

N—
~NcE®=~s %

N|§|
N—
N——
L
T

1= Csc[arcSin(£ J .2 =Cos( arcTan(ﬁ)) 3= Sin[arcCos(éD
1

No3=| 4= Cos[arcSin[ J .5 =Sin(arcTan(7)) .6= Tan[arcCos ED
3
4

K 7= Sec[arcCos(— £D 8= Cot(arcTan(f)J 9= Tan(arcSin[éD |

[ 2 -1 5 1
= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos[—J + arcSin[—D
7 5 7 5
) 3 4
No4 = 3= Sm[2 arcCos[gD 4= 005(2 arcCos[gD

S =arcTan(Cos(n) + Sin(-5m)) .6= Csc[arcCos( Sin( 1761r D + arcSin(CosL— %Dj

~~NCRXK®=-~°s K

~NQEK®=~=2 X

No5 =Sin(2 arcCos(a)),

b}

No6 = Cos(2 arcCos(a.)),

b}

No T NCGKXR
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TrigonometryExercise5 for No.12590

M
a
3 1 2
= arcCos[— L] 2= arcsin(—j 3= arcSin[— L] t
2 2 2 h
Nol = )L
4= arcCos(«/E) S=arcTan(-1) .6= arcco{gj j%
7= arcTan(«/;) .8 =arcSin(1) .9 =arcCos(-1) IZ{
(. -/ -
_ 1 3 ) o
.1 = Tan( arcTan(—«\/g )) 2= Sin(arcCos[;J 3= Tan(arcSin(£ ]

[oe]
:\-nln

| 8
eelad L) sl 2) ol |
7-ansin{ s 17| 8c[c[ S e e 25

- cm(mco{-én sl 2) -l

B (E_D .Zcm(msm[i%j sesifwco{ L2

M

a

5 t

5 3 h

No3=|.4= Tan[arcCos D 5 Tan(arcSm[—J .6 :Sec[arcCos(—J , .| @
8 4

M

U

T

/

~~NCX®s-~28 XK

w

=it 2] s- o ansin 2] - c[T( @D

i 3 1 5 -1
= Sin(arcCos[—J + arcSin(—D 2= Cos[arcCos(—] + arcSin(—D
7 6 9 6
) (1 4
No4 = 3= Sm[2 arcSm[ED 4= COS[Z arcCos[gD
T (= [ T= ) 137
5= arcTan(Cos(;j + Sm(;j] 6= Cot(arcCos[Sm(—6 D + arcSm[Cos{ 3 jD

~NQX®=s>~=s K

No5 =Sin(2 arcCos(a)),

b}

b}

No6 = Cos(2 arcSin(a.)),

NQEK NCX
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TrigonometryExercise5 for No.12621

"]
-1 (3 a
.1 = arcCos| ; .2 = arcSin T .3 =arcTan(1) ¢
1 h
Nol=| .4=arcCos(2) .5 =arcSin(0) 6= arcCos(Ej , .| @
/3 v
7= arcTan(—«\/?) 8= arcSin[— TJ .9 =arcCos(-1) Ly{
L/ ]
[ 3 3 3 1 [M]
= Tan[arcTan[— gD 2= Tan[arcSin(— gD 3= Sin[arcTan[%D a
b T !
.4 =Cos(arcTan(-1)) .5 =arcCos| Cos| — .6 = arcSin| Cos| — h
No2 = 3 6 @
B 5n 3n n C
7= arcSin[Sin(— —D 8= arcCos(Cos(— — ] 9= arcTan(Tan[ jJ M
6 4 6 U
. 4/5 (13x . (1 T
.10 = Csc| arcSin| —T .11 = Sec| arcCos| Sin| p .12 = ArcSin| Cos| ArcSin| E )
Fur]
(-1 . /3 -1 a
.1 = Csc| arcSin ? .2 = Sin| arcCos| —? .3 = Sec| arcTan ; ¢
h
2 2 2
No3=| 4= Cos[arcTan[—D S= Tan(arcSin[— LJ] 6= Cos[arcSin[—jJ , .| @
5 j_ 5 M
-5 7 2
7= Tan(arcCos(—D 8= Sin[arcTan(— —D 9= Cot[arcCos{‘D u
L 8 2 7)) T
L -/ .
"
i _ 3 (2 4 (1 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
5 5 5 2
4 2 h
No4 = .3 =Sin| 2 arcSin| — .4 =cos| 2 arcSin| — , | @
9 5
M
Sn (3= . 11n . 107
.5 =arcTan| Cos| —— |+ Sin| —/— .6 = Sec| arcCos| Sin| ——— | | + arcSin| Cos U
L 2 2 6 i T
L ! -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12641

2 2 )]
A= arcSin[%J 2=arcSin(1) .3= arcSin[— g]

-1
Nol=| .4=arcTan(0) .5= arcCosE;j .6 =arcCos(-1)

3 1
7= arcTan(gj .8 =arcCos(3) 9= arcCos(Ej

_.1 = Sin[arcSin(— %D 2= Tan(arcSin(

4= Sin[arcTan[— TD 5= arcSin[Sin(
No2 =
. [(5m
7= arcSm(Sm(?jJ 8= arcCos(Cos(—

)
)
)

N | —

w B3
~ N N
a
N—
Na—

e N|§|;wqa®w~a <

3= Cos{ arcSm[

6= arcCos(Sm

9= arcTan(Tan[

~~NQX®=~8 X

A1 (17n V2
.10 = Cot| arcSin| ; .11 = Csc| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos| — T
C ]
-4 5 3 a
A= Sm[arcCos(gD 2= Csc(arcTan(%D 3= Sec(arcCos[— gn ¢
1 4 2 i
No3=|.4= Cos(arcTan(—D 5= Tan[arcSin(—D 6= Tan(arcCos[—D , .| @
2 7 5 M
4 (Ao . U
.7 = Cos| arcSin 7 .8 = Cot arcSin —1 .9 =Sin(arcTan(2)) T
] M
]
[ . 2 (-3 4 (1 ] a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| — | + arcSin| ~ ¢
7 8 9 2
2 1 h
No4 = 3= Sin[Z arcCos[—D 4= 005[2 arcCos[—D , .| @
3 2
M
. A . S5n
.5 =arcTan(Cos(m) + Sin(m)) .6 = Csc| arcCos| Sin| 7 + arcSin| Cos| T U
L - T
L /]
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12674

C ]
a
.1 =arcTan(0) 2= arcCos(«/;) .3 =arcCos(0) ¢
| [ A2 3 h
Nol = .4 = arcSin(-1) S= arcSln[— 2 ] 6= arcTan( 3 ] e

3 3 2 M
7= arcCos[— £] 8= arcCos(Lj 9= arcSin(Lj U
2 2 2
T
!

I 3 2 3 1 [M]
A= Sin[arcSin[gjj 2= Cos[arcsin[gJJ 3= Sin[arccos[ng g
1 5n o = t
.4 =Tan| arcCos| ~ .5 =arcCos| Cos| — .6 = arcCos| Sin| —— h
2 6 6
NO2 = > s @
13=n b4 Iln
7= arcSin(Sin( jj 8= al‘CCOS(COS(— —Jj 9= arcTan[Tan[— _jJ M
6 3 6 U
. 5w . 1/; T
.10 =Csc(arcTan(1)) ./1=Sec| arcSin| Cos| — ? .12 = ArcCos| Sin| ArcCos| — —2 ,

A= Cos[arcSin(

No3=| 4= Tan(arcSin[_

7= Csc[arcSin[—

N |
N—

) esafrall)) - rafuecol2]) |
) scofmenlt]) omsfwenal )
I} o-cofsrn(3])) o-sufueod 27

N
Ne———

=[5

\\]Qi@NNQE

M
[ 4 5 3 -1 a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
7 9 5 2
2 1 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| ~ , .| @
3 6
M
S 1l= ) Sn . Sn
S= arcTan(Cos(6 T)+ Sln( 5 D 6= Sec[arcCos(Sm[— ?D + arcSm(Cos[TD] U
L - T
L/
M
No5 = Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.12728

C ]
3 a
.1 =arcSin(1) .2=arcCos(5) .3 =arcTan —T ¢
3 h
Nol=| 4= arcSin[— Tj .5 =arcCos(0) .6=arcTan(1) | , @
M
2 2 1
7= arcCos[— £j 8= arcSin[LJ 9= arcCos(—j U
L 2 2 2 T
L -/ -
[ 3 1 . M|
.1 = cos| arcCos| T .2 = Tan| arcCos 5 .3 = Sin( arcTan(ﬁ)) a
T T !
.4 =Cos(arcTan(1)) S= arcCos(CosL—D 6= arcCos(Sin(—D h
6 3
No2 = > s @
I1n b 1=
7= arcSin(Sin( jj 8= arcCos[Cos(— —D 9= arcTan(Tan[ jj M
6 6 6 U
T -1
.10 =Sec(arcTan(-1)) .11= Sec(arcSin[Cos(— ?DJ A2 = ArcCos(Sin(ArcCos(zD] 7;
]
e . 1 1 a
.1 = Cot| arcSin| —T .2 = Sin| arcCos ? .3 =Tan| arcCos 5 ¢
h
1 5 7
No3=| 4= Tan[arcSin[—D S= Sec[arcCos[— LD .6 = Csc| arcTan(—D , | @
3 8 6 M
. 2 (-5 -7 U
.7 =Sin| arcTan| ——— .8 =Cos| arcSin| — .9 =Cos| arcTan| —
L 3 8 3/)/] T
L -/ .
C ]
[ , 2 (-4 1 (1 ) a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| = ¢
3 7 2 2
5 4 h
No4 = .3 =Sin| 2 arcCos| — .4 =cos| 2 arcCos| ~ , .| @
6 9
M
. . 7n . 10w
.5 =arcTan(Cos(n) + Sin(-2 ®)) .6 = Cot| arcCos| Sin| — ? + arcSin| Cos| 3 U
L - T
., .

No5 = Sin(2 arcSin(a.)),

>

No6 = Cos(2 arcSin(a)),

s

NQE NORE
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